Efficiency vs dr
x 0.2p
< i

- - -
4 0.18:

0.06F
0.04f
0.02f¢
L
o O
= =1 | —— DQM_mkFit_TTbase
x 0.8:—'- —— DQM_mkFit_TT_retrainOldFiles125_v2_prelimWP
oot AT IR
107 1072 10™

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.05
n0.045
=
o
<]0.04
9.035
>
20.03
Q
:-'=0.025
3]
0.02
0.015
0.0
0.005

Ratio

107 1072 107t
AR(TP, jet)

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

q-

Ratio

oo eyt b P EHLEL
oo [l AL I HI .
20 30 40 50 60 70 80 90 100

Pileup




	Contents
	Page 1


